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Instructions :

9

) Question Numbers 1 to 10 are Muinple Choice Type for which only corme?t

i)  All questions are compulsory.

answer should be written in the answer-book. Question Numbers 11 12 18
are Very Short Answer Hpc,g\ich are to be answered in about &) words
each, Question Numbers 19 %24 are Short Answer Type, which are to be
answered in about 150 won%tach and Question Numbers 23 to 27 are

Long Answer Type, which are Pbe answered in about 300 words each.

i) Allotted marks of all the qt.msu'éns are given against them.
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Write the correct answers of the following questions In your answer-book :

1. Who gave the welfare-oriented definition of Economics ?

a) Adam Smith  b) Marshall c) Robbins d)  Mchta
2. How many factors of production arc there in the modern age ?

a) 2 b) 3 8::1 4 d) 5
3. If the demand curve is parallel to y*ﬂxgglhﬂn clasticity of demand is

a) zero b} onec (gr?:c] morc than onc  d) lcss than one
4. Wealthisa

a) flow b} stock c) both (a) & (b) d) none of these
5. In perfect competitive market demand curve is

a) Parallel to x-axis E_)'l}l Parallel to y-axis

c) Making an angle of 45° from x-axis d) Making an angle of 60° from x-axi:
6. Who is the Finance Minister in India, at present ?

a) Narendra Modi {Jb) Amit Shah

¢) Nirmala Sitharaman %d} Yogi Adityanath
7.  Who is the Governor of Reserve Bank %ndia. at present ?

a) Shakti Kant Das Cob] Nirmala Sitharaman

c) Sanjay Malhotra ¢)d) Piyush Goel
10035

[ Turr



329(3J)

8.

10.

11.
11.
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14.
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16.

16.

If in an economy at a cert

Rs. 100 crore and Rs 8

_ CQ
Fropensity to consume 2 o)
{®,

a) 180 b) 125 o 08 d

. e}
When did Global Economic Depression 0CcHr:

a) 1929-1930 b) 1945-1946 c) 1975-1976 d)

D

General Price level is a subject matter of

a)  Micro-Economics b) Macro-Economics

d) Nonc of these

c) Both (a) & (b) O
( afa @ a7 )
( Very Short Anef\”er Type Questions )
. . 1
HHETTS iR’ w/n R 7 E’JQ
Qo

What i1s "Positive Economics” ?
“Hara Iugifrar fRa wwad € 7
What is "Marginal Utility” ?

“afrga @ |/ w3 e R v
D)

What 1s meant by "Average Cost" ?

“Iaqred e &1 gioafya $ifae

Define "Production Function”. O

"W%ﬁmﬁ"ﬁmmmﬁﬁg

What do you understand by "Frictior@ghUnemployment” ?
) . O

cquraqet wm @ w0 b R 7 o

What is meant by "Effective Dcmand"(‘,-_'-‘]
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17. What is "Exchange Rate* »

18, "THZ A JAIE” Fm A

18. What is "Cash Reserve Ratio" 7

4
%869‘8200 ’

( Short Angwer TYP® Questions )
19. -w"ﬁmﬁ?@mmm%ﬁﬁmml 2+
19. What is called "Demand® ? Explain the major factors affecting it. 2+

20. =AM ¥ F yq@ FH = v Hiyg |

20. Explain the important functions of comﬁrcial banks.

21, FrEET W It fam A o sgeen R e wfen s St |

21. Explain Law of Diminishing Margina_]gtjlit}' with the help of an example an
diagram.
22. 9 gu sfawa F frm € o g v faa afem =@ i

22. Explain Law of Diminishing Returns with the help of an example and diagram.
23. TawME grz 3 grfe G § sa we S |

23. Differentiate between Fiscal Deficit and Primary Deficit. '
24, WA~ 3N =TT ¥ v s R fifw |

24. Discuss the difference between Balance of Payment and Balance of Trade.

(e 3wl gva )
( Long Answer ¢ Questions )
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.  py upy analysis,
25 Explain consumer's cquiilbﬂum ) ‘g 10
NOR
0
. decre@mes from Rs. 5 : 4 it it
When the price of a commodity dc 0 | per unit to Rs. 4 per umit, its
demand increases from 100 units t© 110 units. Calculate clasticity of demand. 10
_  fET= 9 ) aqren Hifae
Qe.mﬁmngﬁm.aﬂww@ # 1 10
;E
@uﬁﬁﬁm%mmmmﬂm'mmmJ*?mi 10
26. Explain Total Revenue, Average Revenue and Marginal Revenue with the help of
diagram. O 10
- .
]

How are quantity and price dclcn‘!‘linicg under perfect competition ? Explain. It
27.mmﬁdmhwmmmmmﬁﬁaﬂﬁﬁm 1
st
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fash « 100 9@ %o 2
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27.

yrfelys W = 20 1@ Fo D,
D
HHTIA WEN = 25 @ %o '5
hn

Discuss the cffect of change in Aggrégtc Demand on Income and Output.

OR
¢
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